\
\

N
AN/

' “ “ 'l ' Four people are required to
assemble and move this model




S ———='

A\

/i

7

N\

\

N

S\
NN X

A

AN

/777

NN

M
m.- =

/

;//
\ \N\/ \ \
/ / /)
. N7\ N
T
al
O

A

=\
\\
7




[ANEA0

NOILONILSNI A TdINISSY




Part List (WF312879)

Al

Woodbar-1pc

A3\
Woodbar-1pc

A4

Woodbar-2pcs

A6 A7 A8
Woodbar-1pc Panel-3pcs Woodbar-1pc
A9 B2 r B3
Woodbar-1pc | Woodbar-1pc VVood:jijjiggggggggz
B5 f B6

84\
Woo

Woodbar-1pc

Woodbar-1pc

dbar-1pc
B8

Woodbar-1pc

B9
mm:ijjif§§§§§§

Cl

Woodbar-1pc

C2 [
Woodbar-1pc

C5 [:
Panel-1pc

cﬂ\
Woodbar-1pc

C9 ::
Panel-4pcs

<

Panel-6pcs

E3

C8
Woodbar-1pc J

Woodbar-1pc

E6 I
Panel-2pcs

S

Woodbar-1pc

04/32




Part List & Hardware List (WF312880)

A2 A5 Bl T
Woodbar-1pc Woodbar-2pcs Panel-1pc \\:
B7 ™ C3 C4
Panel-1pc~J Woodbar-2pcs Panel-1pc L;]
C6 _ D1 D2
Q
Woodbar-1pc Woodbar-2pcs Woodbar-2pcs
D4 D5

N

Woodbar-1pc

Woodbar-1pc

4

Woodbar-3pcs

D8

Woodbar-1p

D9

\

Woodbar-2pcs

D7
E1l

Woodbar-1pc

=

Woodbar-1pc

E4 [

Woodbar-1pcl)

ES/
Panel-1pc

E7

£

Woodbar-1pc

ES%

Woodbar-1pc

05/32




Part List & Hardware List (WF312880)

F4

500N

&)

Piston Steam-2pcs

F5

Metal corner link-1pc

F6

Metal corner link-1pc

F7

Metal corner link-2pcs

F8

N

Woodbar-2pcs

06/32




Hardware List (Box 2 - WF312880)

Allen Key 2pcs

Metal Chicken leg 1pc

1 2 3
<D P
\\\\\\\ X
9 © ol
@1/4" x 40 mm @1/4" x 50 mm @1/4" x 60 mm
Hex-Head bolts 1pc Hex-Head bolts 8pcs Hex-Head bolts 30pcs
4 \\ 5 6
<P
©
@1/4" x 80 mm @1/4" x 100 mm @1/4" x 120 mm
Hex-Head bolts 8pcs Hex-Head bolts 19pcs Hex-Head bolts 7pcs
7 8 9
@1/4" x 15mm @10 x 40 mm - 91/4"x 13 mm
Hex-Head bolts 1pc Wood dowel 39pcs Horizontal-Hole bolts 72pcs
10 11 12
VA 33“' S
7 o
Screws 1/4" x30 Screws 1/4" x50 Screws 1/4" x70
12pcs 4pcs 7pcs
13 14 15
\\\\\%\‘w 3“\" @ﬁv
Q
Screws 1/4" x80 M4 x 20 mm M4 x 30mm
2pcs Wood Screws 36pcs Wood Screws 26pcs
16 7 18
e
>
M4 x 20 mm NULt 40CS
Wood Screws 14pcs ut2p Bearings 2pcs
>
((/’

07/32




Hardware List (Box 2 - WF312880)

22 23 24
M4 x 32mm
Handle Wood 1pc Wood Screws 1pc Stop Wood 1pc
25 26 217
S \
’ \
@8 x 30 mm
Stop Wood 1pc Stop Wood 1pc Wood dowel 4pcs
28 29 30
D iy
sV S
@20/ J6 x 5mm @1/3" x 40 mm M3.5 x 12mm
Washer 1pc Hex-Head bolts 2pcs Wood Screws 10pcs
31
Metal plate 1pc

Co—o

Assembly Tools Required (Not Included)

08/32




ST E P 1 Following below illustration.

5 > 4 N
2(pcs) |6(pcs)  |8(pcs)

ST E P2 Following below illustration.

14




STE P3 . Following below illustration. 4
S
g o5

Y

1(pc)  |5(pcs)

~—_
s

14

STE P4 Following below illustration.

10/32




STEP5 Following below illustration. 4 ) 5 ) 9

o G
&

e ———,
-

-
-
P

\\\
PN T 1(pc) 1(pc) 2(pcs)

N\
\

S I EF 6 Following below illustration. 3 N 9

\\\\\\\\\\\\\\\\\ (32)
)
\\\\\\\\\\\\\\

SV
5 y

~~~~~
- ~.
e .
e SN

N,

.
AN
N\
:ﬂ
/
4

2(pcs)  [2(pcs)

;S W—

-
~~.

v
!

!

1

1

1

1
\
\

\




ST E P7 Following below illustration.

B3

___________

15 24
a(pcs)  |L(po)
25

ﬁ%’%

N

1(pc)

ST E P8 Following below illustration.




12

ST E P9 Following below illustration.

ST E P 10 Following below illustration.




3(pcs)

ST E P 1 1 Following below illustration

12

ST E P 1 2 Following below illustration




ST E P 13 Following below illustration.

W)

ST E P 14 Following below illustration.

) »
g Y
S Q)
6(pcs) |4(pcs)
M
10(pcs)

15/32




ST E P 15 Following below illustration.

ST E P 1 6 Following below illustration.

&

el %
A Y @
P

-
< P

- -7
L % A
- -
e -~
v e

30

—

.
\\\\\\\\\
o

p
¥

4(pcs)

=

e

4(pcs)

16/32




16

ST E P 1 7 Following below illustration.

17/32




illustration.
g below illus
in
. Follow
18:
EP
ST

4(pcs)
)
4(pcs

\\\\

—

N

18/32




ST E P 1 9 Following below illustration.

ST E P20 Following below illustration.




ST E P 2 1 Following below illustration.

o ——
\\\\\
e S

~o
S
SN
N,

o

4(pcs)

20/32




ST E P23 Following below illustration.

21/32




ST E P25 Following below illustration. 7

22/32




ST E P 2 7 Following below illustration.

17

0%

23/32




29

STEP28: roiiowing below iustration.
@WWW

2(pCs)

\
“‘\ @ //Q
| -~
\ <V
\ H
O
\\ >
\\
\\

\ e
24/32




17

1(pc)

ST E P 2 9 Following below illustration.

N

\\\\\\\




STEPBO Following below illustration. 17

0%

1(pc)

26/32




20(pcs)
27132

ST E P3 1 Following below illustration




STEP32:

Following below illustration.

<
0

22

ST E P33 Following below illustration.

1(pc)

23

28/32




ST E P35 Following below illustration.

T~ 29/32




ST E P36 Following below illustration.

s
,@\\\

W\\

4(pcs)

L




g




/

N
o
»
——\\
b \
. . S — \ N . A\
X/ \

~ 7 \ \ N\ \

/& \

¢ T2
S _ | &
g NN
. 7T |
E i | B
w /// \ \\\ 1 m . . - /n \/
2 2 y
ol : .\ ol
LL . . . L
— —~ —
N N

(L

¢,




	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)
	AI-WF312878-880 (Full-House bed with USB) Model (1)

